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AN BHETD
Hu: MACK Y
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Z M & At 24,346,274 4,857,000 19,489,274
& 2,259,000
< 57,000
Al 22,030,274
SMASHT2E 21,546,274 4,857,000 16,689,274
& 2,259,000
< 57,000
Al 19,230,274
s3HX A&t (s2XN72ZY) 21,546,274 4,857,000 16,689,274
= 2,259,000
< 57,000
Al 19,230,274
Olds2eXxd 1,776,000 100,000 1,676,000
= 1,644,000
< 7,000
Al 125,000
402 RI2EX 20| ™ 1,776,000 100,000 1,676,000
& 1,644,000
< 7,000
Al 125,000
02 BI2HCH & A& HI 1,776,000 100,000 1,676,000
Ollds3s=ix=d 1,776,000
= 1,644,000
< 7,000
Al 125,000
ols2¢Xx=d 660,000 100,000 560,000
& 615,000
Al 45,000
402 RIZEX201 A 660,000 100,000 560,000
& 615,000
Al 45,000
02 QI2HCH &AM HI 660,000 100,000 560,000
Olllss=%Xxd 660,000
= 615,000
Al 45,000
SSHA AR 511,550 371,550 140,000
= 50,000
Al 461,550
201 2et24d] 69,550 4,550 65,000
01 At 2teltl 12,000 2,000 10,000
OLEr2dHl 2,000
OFHILX= 10,000
02 232gHl 57,550 2,550 55,000
OAMOIHIIS XA AAE KR XIHl 17,000,000%15% 2,550
OFst2==XcelAl 8 ZHl KAt 50,000
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OFssgEFINLETIIIES 5,000
202 44l 2,000 2,000 0
01 SLHOIYI 2,000 2,000 0
O=U A bl 2,000
307 glz2tol & 10,000 10,000 0
02 QIZtAHE X 10,000 10,000 0
Os3HX #osl 2LHI(2MHA) 10,000
401 AIEHI L 2 CHYI 200,000 115,000 85,000
< 50,000
Al 150,000
01 A& HI 200,000 110,000 90,000
Os32X Al ZHl 100,000
O=ZsSEsSHNULALT AL L 100,000
< 50,000
Al 50,000
802 BHEt = JIEF 230,000 230,000 0
03 uUg=S 230,000 230,000 0
Old=s 230,000
0l Bl Bl 18,598,724 3,185,450 15,413,274
801 GilHI8l 18,598,724 3,185,450 15,413,274
01 oildl bl 18,598,724 3,185,450 15,413,274
Ououldl gl 18,598,724
Hees(EMEX) 2,800,000 0 2,800,000
UWEAHAKE (s 7EYH) 2,800,000 0 2,800,000
LHEAHHXI & 2,800,000 0 2,800,000
701 JIEISI AN =3 2,800,000 0 2,800,000
01 JIEtIHEES 2,800,000 0 2,800,000
OBt AHNES 2,800,000




